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Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

Use Blue or Black ink to write and underline and pencil to draw diagrams.

GPLY : @eeflemssrar B u@;_ﬂ,a;emm Qs reRTLg.

This question paper contains four parts.

Note

@iy :

Note :

L@ - I /PART - 1

Sjenensg NamésErsEn ellamLwallsseyb. 14x1=14

Qar@ssiul L wrpy doLseld Wsayb ghymw elaLuilaman
Coi0s0ss GHUILGLa el wiemeanyb Csisg er(seLD.
Answer all the questions.

Choose the most appropriate answer from the given four alternatives R
the option code and the corresponding answer.
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(a+2, 4) OB (S, 2a+b) @pdw aflwss CETaseT sLL erafld, (a, b) erers) :
(2) @ -2 (<) (5, 1) (@) @ 3 () (3, -2

If the ordered pairs (a+2, 4) and (5, 2a+b) are equal then (a, b) is :

(@) (2, -2 b) (5, 1) (c) (2, 3) (d) (3, -2)

65 wHmb 117-ufen 18.QuT.eu-eneu 65m — 117 ereiin euig.elie er(pgid G, ‘m’-@en
wdiiy :

(1) 4 (<) 2 (@) 1 () 3

If the HCF of 65 and 117 is expressible in the form of 65m—117, then the value of
Hds:

(a) 4 (b) 2 () 1 (d) 3

t, gl e sl (B Ggmfeuflevsuilen n -eugl 2 Ly eTefla, tg, —t,, E)em iy :
(<=1) (8n—-1)d (<) (8n—-2)d (&) (Tn-2)d (/) (7nd)
If t, is the n'? term of an A.P., then tg,—t, is :

(a) (8n-—1)d (b) (8n—2)d () (7Tn—2)d (d) (7nd)

x?—2x—24 wpmibd X2 -kx—6 -uder 8.Qum.eu (x—6) erafled, k -ulen iy :
() 3 (@) 5 @) 6 (w) 8

If (x—6) is the HCF of x2—2x—24 and x2—kx—6, then the value of k is :
(a) 3 (b) S (c) 6 (d) 8

X +64 (PP QUITESLONS MDY SiFEIL e (erehHeaauDET erangs gl L CauaimBid ?
(1) 4x° (=) 16x2 (@) 82 (F) —8x2

Which of the following should be added to make x*+64 a perfect square ?

(a) 4 (b) 16x2 () 8x2 (d) —8x2
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21ax+d aamm @GUy LodmULs Geraa X AECETH Qeul (B> yerefsefler
CTETEnNSENG

(=4) O (=) 1 (@) 0 svag 1 (F) 2

The number of points of intersection of the quadratic polynomial X2 +4x+4 with

the X-axis is :
(a) O b 1 (c) Oorl d 2

@ souss WeGsTard AABC -ulld |C =90° pmib AC=5 Q.5 erariled, AB %) :
(=1) 2.5 Q&8 (<) 5 Q&8 (@) 10 Q&5 (FF) 542 Q.15
If AABC is an isosceles triangle with |[C =90° and AC=5 cm, then AB is :

(a) 2.5cm (b) 5cm (c) 10 cm (d) 5y2 cm

AABC -ufé, AD =peng, £BAC -ullan @ swblaitly. AB=38 @#.8, BD=6 Q&.15
pHmb DC=3 Q.18 erafle) LgsDd AC -Ger Bemid :
(=1) 6 Q&8 (=) 4 Qg.18 (@) 3 Qa.iB () 8 Qg8

In a AABC, AD is the bisector of ZBAC. If AB=8 cm, BD=6 cm and DC=3 cm, the
length of the side AC is :

(a) 6 cm (b) 4 cm (c) 3 cm (d) 8cm

(5, 7), (3, p) HYID (6, 6) eramuear @ CHTLMLHSME erafled, p’ -uflew &l :

(=) 3 (<) 6 (&) 9 (FF) 12
If (5, 7), (3, p) and (6, 6) are collinear, then the value of p’is :
(a) 3 (b) 6 (@) 9 (d) 12

(0, 0) wHmb (-8, 8) eramp Leraflsmar QamansEh CarlighHGés CemGssre
Gamiigen U6 :

(o) —1 () 1 @) > (w) -8

The slope of the line which is perpendicular to a line joining the points (0, 0) and
(—8, 8)is :

(a) -1 (b) 1 © 3 ) =8
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13.
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& Gamyrsder 2 wird 60 18 @D, Gilwmar sranb aqhpsCatamd 30°-ambg 45°
<46 2 wHld Curg Camyrsdlen Hlpomeng) x S @eondng erafled, % -em U :
(31) 41.92 8 (<=p) 43.92 8 (@) 4318 (rF) 45.6 18

A tower is 60 m high. Its shadow is x metres shorter when the sun’s altitude is
45° than when it had been 30°, then ‘¢’ is equal to :
(c) 43m (d) 45.6m

(a) 41.92m (b) 43.92m
T SOGEET QTD 2Ll @ F SeT&EGararmigaiien <igUuGSser
QeanssiupL Gurg 2 meurEL SHarmngdlen LpLUTLILY

(=4) 4112 5.3 (=) 6712 &.9 (@) 3wr? .o (rF) 8mr? &.9)

If two solid hemispheres of same base radius T’ units are joined together along
their bases, then curved surface area of this new solid is :

(a) 4mr2 squnits (b) 6mr? squnits (c) 3wr? sq.units (d) 87r? sq.units

@@ 2 everuden b @) L BISTETTED, 2 (HelmGEIULL o (meverudler LSw s
sjarey QsTHEsUUL L o mearuder searoiemena el LOL_BIGTELD.

(1) L0 ()3 (@) 4 (/) 2

If the radius of the cylinder is doubled, the new volume of the cylinder will be
times the original volume.

(a) same (b) 3 (c) 4 (d) 2

S BUBSEG Caume SaLuugpsrar Hapssalrag) % Couemer HlenL&&MDE
QmuugpsTe Hlapsse] % erafled % -@en wdlliureg) :

(=) 2 ()1 (@) 3 () 1.5

; , % fh ;
The probability of getting a job for a person is 3" If the probability of not getting

the job is —2-, then the value of ‘% is :
5

(a) 2 (b) 1 (c) 3 (d) 1.5
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L@$ - I / PART - II

sTeneuGueId 10 alammésEnsE el wealléseyb. elarm eram 28-&s

GLUEEIE
sL_Lmuwrs eflen_wiefase,ib. 10x2=20

Note : Answer any 10 questions. Question No. 28 is Compulsory.

15. A={1, 2, 3} wHMD B={x|x erenuig 10 -g el § Hfw usr ereum ereied, AXB
Hmb BXA WeIDmns srens.
Let A={1, 2, 3}, B={x|x is a prime number less than 10}. Find AXB and BXxA.

16. uLSSe sriLUulBearer SbUEGDH UL rearg P wHOID Q SRS EH&ESTar
2 peveus @N&HaDS. @QBs 2 pee (i) sarslLewly pen (ii) ULigwe

wpenmsefled eSS,
P Q

N

The arrow diagram shows a relationship between the sets P and Q. Write the
relation in (i) set builder form (ii) Roster form.

17. 13824=22x3b erafled, ‘@’ wmmid b’ -udler wHLULS srewms.
If 13824 =22x 3P, then find ‘@’ and b’.

18. 16, 11,6, 1, ... erarim Snl (HECISTLIT auflensulles —54 GTGTLIG,| TSSemaLITeg) 2 MUy ?
Which term of an A.P. 16, 11,6, 1, ...is —54 ?
[,@@Du&/ Turn over
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19. Qeeumn Careausafien el L WHLIL| Sramrs.

P+ 2
8p2 + 13p + 5

Find the excluded values of the following expression

7p + 2
8p? + 13p + 5

20. uLgdD |A Qe @ew@auly AD @h. BD=4 G&.5, DC=3 @&.18 whmibd
AB=6 Q&.15 erafle, AC -eowis SHrems.

B C
4 Q&.5. D 3 Qg.18.

In the figure AD is the bisector of |A. If BD=4 cm, DC=3 cm and AB=6 cm, find
AC.

A

B C

4cm D 3cm

21. P(-1.5,3), Q(6, —2) womid R(-3, 4) < dlw Yeraflser G5 CrisGsmiged <enwuib
aTens &TL(hs.
Show that the points P(—- 1.5, 3), Q(6, —2), R(—3, 4) are collinear.

22. (3, —2), (12, 4) eramp yeaflser cufld Qacogyd CrirsCar@® P’ OHMID (6, —2) Lo LD
(12, 2) erenip yemaflaer euflé Qeceid Gpn&@&sn@ ‘P PGL. P POF ‘T-5G
@eremTiLm@GLOT ?

The line ‘p’ passes through the points (3, —2), (12, 4) and the line ‘q’ passes
through the points (6, —2) and (12, 2). Is ‘p’ parallel to ‘q’ ?
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23. (-1, 2) eramp yerafl el Qaeveugd, smiiay S eeLwgore CrirGari_iq e

FOTUTL LS &TeHurs.

Find the equation of a straight line which has slope —, and passing through the

point (-1, 2).

24. 50438 e wreperar @@ urempula 2 &8l MmHE 30° Qnéss Caramsdd
gengilgierer & (PHE e uTTESLLGEDS erafle, LE(WPBHDGLD LTEDEGLD
QL Cuiyerer Qgrenawencus sreams.

From the top of a rock 50./3 m high, the angle of depression of a car on the ground
is observed to be 30°. Find the distance of the car from the rock.

25. @@ Gsmer auig el auafléaneirg giem (balloon) THN 2 FEUUBL Curg ST b
12 Ge.8 -a\mpg 16 G5.8 -6 2 winAng. @@ ypuuruyseafler aNgid sTeaTs.

The radius of a spherical balloon increases from 12 cm to 16 cm as air being
pumped into it. Find the ratio of the surface area of the balloons in the two

cases.

26. s YrusET Qarar @M smbyseler &er Sfareyser 3600 & Q&5 whHmbd
5040 &.0g..8 erafled, 2 wiptisafler eNlsio srars,

The volumes of two cones of same base radius are 3600 cm® and 5040 cm3. Find
the ratio of heights.

27. Qream® BreawTRISE et mass ser_Lu@Earmer. @ e 1 T 6807 W 161 & 61f) @) LD
QaucuCoumy amsar fenl_LiLigharer B&pssa; erever ?

Two coins are tossed together. What is the probability of getting different faces
on the coins ?

1

X 7 : : .

28. P= , Q= erafled, _
x+yQ 5t p2 _ 2 Srans

1
x+y’Q x+y,thenﬁndP2_Q2
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u@g - I / PART - III

GO : sTemeuGuenib 10 arés@Ers@ oL weallssab. allarm aram 42 -&@

s mwwons el wefléseyb. 10x5=50

Note : Answer any 10 questions. Question No. 42 is Compulsory.

29.

30.

31.

32.

33.

A eraugl 8-3 L& Gepeurar Qué cransaflen sarb, B ereug 8-8 L&
GODEUTERT LIST eTaimsafiien seurd wpmitb C eremlg @l epL Uil LIST GTeiaatie

SeTld eTarfley, eflumids.
AX(B-C)=(AxXB)—-(AxC)

Let A= The set of all natural numbers less than 8, B= The set of all prime
numbers less than 8, C= The set of even prime numbers. Verify
AX(B—C)=(AxB)—(AXC).

R FHSEsTT euflanguden 1, m wHMID n-<peug 2 MIiLseT wpepGw X, y LHmILD
z erafled Gemeumeuameupenn HlemNEGEe]Lb.

() x(m-n)+ym-1)+z(1-m)=0

(i) (x—yn+(y—2l+(z—xm=0

If ', m™ and n'® terms of an A.P. are x, y, z resp., then show that :

(i) xm-n)+yn-1)+z(l-m)=0

(i) (x—yn+(y—21+(z—xm=0

R FmLOSCASTLT auflansulen 6-cug LHMIL 8-eugl e muiysefean eNfgn 7 : 9
erafled, 9-aug Hmid 13-eugl 2 miliyseien Mg Sres.

The ratio of 6™ and 8™ term of an A.P. is 7 : 9. Find the ratio of 9th term to 13th
term.

36x*—60x3+61x?~mx+n QYaF QM WP UTGESD erafléd m, n <24, & Weu i et
LHULSMETE STaTs.

If 36x*~60x>+61x% —mx+n is a perfect square, find the values of m and n.

8i1éa : pgx® — (P +q)%x+ (p+q)2=0.
Solve : pgx?—(p+a)2x+(p+q)2=0.
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; —13 :
34. q, B eraLeT 7x2+ax+2=0 -Qlé pPWEIGET LOHMILD B—a=—7— erafled, ‘@’ -ufen
LIS STERTS.

—13
If o, B are the roots of 7x?>+ax+2=0 and if B—a=7- Find the values of ‘@’.

35. Ggeaev Cspmsens er(wpdl Hlemiése, .
State and prove Thales Theorem.

36. @@ owrerd olwrear floowusms ALH Cwlowhgs aLsE Cprésl
1000 &.15/wenfl Geusddler LPsHDG. ACs Crrsdler wWHEMTH ellwreard HCs
efloren Hlevowsms AL H Cuwlawbg Cuoneg Corsdl 1200 &.05/wentl Geusgslen
UD&ES g . 1% wenfl Crrsfnel UnEG Q@ bramsErsE QoL
Qsrenave| ereueLeTa| E)(HEGLD ?

An aeroplane after take off from an airport, flies due north at a speed of
1000 km/hr. At the same time, another aeroplane takes off from the same
airport and flies due west at a speed of 1200 km/hr. How far apart will be the two

planes after 1% hours ?

37. A(-4, -2), B(5, —1), C(6, 5) wpmdb D(—7, 6) Flweupen wpearll Lerelsarmsd
Qaranr BrparsHen Lsshisefler bEHLIL6TaNSET @Ff QeMETSMS SIMLDE@LD 6TaTd
STL(HS.

A quadrilateral has vertices at A(—4, —2), B(5, —1), C(6, 5) and D(—-7, 6). Show
that the mid-points of its sides form a parallelogram.

38. sayulenr B85 @ Yaralulad@mbg 30 B e wrepdter sl sHer Goaidrer b
Camyradlen 2ilg. Hmib 2 F8lular gopsCsarammiser weapGu 45° whmb 60° erafle,
Caryrsdlen o wrsmsd srams. (3 = 1.732)

From a point on the ground, the angles of elevation of the bottom and top of a
tower fixed at the top of a 30 m high building are 45° and 60° respectively. Find

the height of the tower. (\/3 = 1.732)
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39. 2.pib 16 Q518 sl @ sbiddr Qe ssa aligelle) DamopHs QETETHLEN
gendler GupLrd Sobs Haauid 2 arerg). SPULD Td 8 Qa8 whmid Gomym
<47ib 20 Qg.18 Qsraw Qsrasaid WE@LWISL ured BruutuGaDs. e
Ol Lt uredlar eflenav T 40 erevflav, ;_F,];rﬂudu@fn uredler Qwrgs efleneeniis &ramms.
A container open at the top is in the form of frustum of a cone of height 16 cm

with radii of its lower and upper ends are 8 cm _and 20 cm respectively. Find the
cost of milk which can completely fill the container at the rate of ¥ 40 per litre.

40. prsen eremy QUTHUIWED wrawTaT @i 2 (HEPETUAEr @HUDPLD SnldLs6T 2 eTareumm)
wrdfl gereny o paursdarri. wrdflufer Herd 12 Q.8 wHmD A Lid 3 Qa5
UG, @abeur sabGear 2 wFwb 2 085 QMméELramd preer o (meursduw
rfludler sarsieteneud smems.

Nathan, an engineering student was asked to make a model shaped like a cylinder
with two cones attached at its two ends. The length of the model is 12 cm and its

diameter is 3 cm. If each cone has a height of 2 cm, find the volume of the model
that Nathan made.

41. 50 omemreuiiger 2 crerar ¢ eu@Llidd, 28 Guir NCC ulgyib 30 Guit NSS -@ILD LOHMILD
18 Guir NCC wpmitb NSS @b Carflpmiaser. (M TewTeUT FeumiliL) (penuiaid
CarbOshsaslIL@AnTT. <6
(i) NCC -Wlled @BHal, amd NSS -6 Geamoe
(i) NSS -a @QbpHgl e NCC -uled Gevavmned
(ili) @aCp gemdler wHb Ceipg QoLuspsTer Hspssesmard srams.

In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both

NhCC and NSS. One of the student is selected at random. Find the probability
that

(i)  The student opted for NCC but not NSS.
(i) The student opted for NSS but not NCC.
(iii) The student opted for exactly one of them.

42, x—@a{l;@ggjéﬁmnrr.mgj y-Ceul psgamger Seteney 9L 5 AVGEHT NS GoTES
@a;msm_. B0 @(E).WGGSTTLJTGUT@] (22, -6) eramp yerel euifls Cedflemmg erefed
215G g6 FLDETLN a5 SITGHTS. |

Find the equation of the line passing through = ing i
x-axis exceeds the intercept op y—axig by 5111.51gnit(s2 < U m FEEReR oY
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43. (a)
(b)
(a)
(b)
44. (a)
(b)
(a)
(b)
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u@d - IV / PART - IV
S llamés@psEL eflen weflEsea|D. 2x8=16

Answer all the questions.

AB=5.5 Qg.18 [C =25° wpmib 2 &8 C -9 @pg AB -&@ euapywLuLL
G551ECsTIgen Herd 4 C&.18 2 e w AABC cuenys.

{60608
6 Q.8 L (parer el LD euedIHg eul L Gdlem @wWSHOMHS S Q&.5
Qsrerevelgieter @ Leallenwd Ghésen. iyearallulaphg et s8DES
QsTHCsTHs6T auanrbgl, AsTHGCHT e Barhismers saumsdl(Hs.

Construct a AABC such that AB=5.5 cm, |C =25° and the altitude from C to
AB is 4 cm.

OR

Draw the two tangents from a point which is 5 cm away from the centre of a
circle of diameter 6 cm. Also, measure the lengths of the tangents.

y=x2—-4x+3 -ular cuemyULLD euarhg HNGEm ppeD x2—6x+9=0 eremm
FOGTUTL L& ST&se] .
DEV60 G
X2 —4x+4=0 eTenmp FLEMUT 6T UMTULLD euerhg Srelen seamanioemiLis
F[0)5.
Draw the graph of y=x2—-4x+3 and use it to solve X2 —6x+9=0.
OR

Draw the graph of x>—4x+4=0 and state the nature of their solution.

-00o0-

GREEN GARDEN MATRIC. HR. SEC. SCHOOL
Perundurai R.S.
PH: 9486379461, 8344933377


https://www.padasalai.net/
https://www.padasalai.net/
user
Typewriter
X - MAY 2022

user
Typewriter
GREEN GARDEN MATRIC. HR. SEC. SCHOOL

                      Perundurai R.S.

         PH: 9486379461, 8344933377


